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Photon

Positron = Field
Electron = F/wavelength

Photon = Wave function -> a positive field

Light or the light particle, seem to be nothing else than perception. To understand the wave-particle duality, senses
and understanding is involved. It is complete BS to believe that this is solely a particle. A £****** joke for our
universities if this is what you teach your students. It is not a particle, nor a wave. It is a combination..

Here is how it works: The electron is an electric field of tension. The positron is a different field where the electron
always connects to. Quite easy. Electrons are provided by black holes (resulting in Time), and the needed “matter” to
create a light ‘particle’ is provided by stars and what holds plasma together. It will always be a symbiotic situation

for every ‘matter’, and the force of how the function gives a way that life itself can experience it.

Question: Why do you live and experience life?
- Ifwe were all blind, none of us could even read this document.

By this meaning: What resonates with already given wave functions(?)

An example: when you sleep/dream, and you experience something, there will be light. There will be light because
it is an experience. The light will give you a clear view of your own experience. Even though your eyes are closed.

The source of photon attraction is within yourself.
To understand the duality means that your own perception of what ‘matter’ is, is proportional to your own

knowledge and level of perception or CQ (Consciousness Quotient).

So, the scientific question is: Is it a wave, a particle, or is it both. It results in this: It is a particle because your mind
does not accept that matter does not exist, and the wave function is of such a great value that we do not have the
right equipment or technology to manipulate and explore Thz. The reason why we do not explore the Milkyway.

The limitation lies within ourselves.

As a human, you are underdeveloped compared to space travelers, or ETs. Universities can not help you due to
regulations, lobbyism, 1984, and a level of IQ where people should be removed from their position as an example..

Human beings are unfortunately too underdeveloped, and lack the technology to understand this.



